
Tuesday 23rd June - Maths 

1. Can you complete these times tables questions in a minute? 
a) 3 x 2 = 6 
b) 4 x 3 = 12 
c) 3 x 3 = 9 
d) 4 x 2 = 8 

e) 4 x 4 = 16 
f) 3 x 10 = 30 
g) 4 x 0 = 0 
h) 3 x 5 = 15  

i) 4 x 7 = 28 
j) 3 x 8 = 24 
k) 4 x 9 = 36 
l) 3 x 0 = 0 

2. Use column method for these multiplication questions. 
Choose challenge if you are feeling confident! 

a) 15 x 3 = 45 
b) 4 x 24 = 96 
c) 28 x 3 = 84 
d) 32 x 4 = 128 

a) 4 x 89 = 356 
b) 98 x 3 = 294 
c) 182 x 4 = 728 
d) 224 x 3 = 672  

3. Fill in the blanks with <,> or = 
a) 45 x 3 < 38 x 4 
b) 45 x 4 = 60 x 3  
c) 48 x 4 >  52 x 3 

4. There are 7 tricycles in the school’s playground. 
a) How many wheels are there altogether? 21 
Complete the bar model to find the answer. 

 
b) Miss Goldsack adds another 2 tricycles. How many wheels are there altogether now? 27 
5. Ava has four bags with five sweets in each bag. Tom has six bags with four sweets in 

each bag. 
a) Who has more sweets? Tom 
b) How many more sweets do they have? 4 
c) Draw a picture to show this problem.  

If 5 x 3 = 15, which number sentences would find the answer to 6 x 3? 

 5 x 3 + 6 

 5 x 3 + 3 

 15 + 3 

 15 + 6 

 3 x 6  
Explain how you know.  

5 x 3 + 3 because one more lot of 3 will find the answer. 

15 + 3 because adding one more lot of 3 to the answer to 

5 lots will give me 6 lots.  

3 x 6 because 3 x 6 = 6 x 3 because multiplication is 

commutative.  

 


